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PHILOSOPHY
{ Major )

Paper : 6.3

( Contemporary Western Philosophy )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=T7
forfergaRl wote fracaea See i ;
~(a) Belief in the primacy of is a

characteristic feature of existentialism.
( FlH in the blank )

amwﬁmﬂw@—mﬂamhﬁ@a
( A o1 &9 T4 )
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(2)

(b) ““Man is condemned to be free.”” Name
the philosopher who is associated with
this statement. T

‘YRR TN TIA g 17 G SfEnR Fe
e mAFRIeR w4 o o

(c) Name the existentialist philosopher who is
associated with the concept ‘leap of faith’.

‘R TP YRR S Sifee  SRegm!
e A o |

(d) Which of the following sentences is true?
o (FICET A I ?

(i) Existentialism is an emphasis on
abstract thinking.

i Ryé fogd eo@e gy oMM
I |

(ii) Existentialism is related to logical
positivism.

SRYTAM TSI LTI (08 Too/fFs |

(iii) Existentialism does not emphasize
rationality.

R {43 SRS 8% S 79 |
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(3)

(e) Name the second stage of existential
transformation according to Kierkegaard.
fFrdarey we TR R Reg T8N
YACOR Y o7 1

(f)  With which of the following word the
term ‘intentionality’ is associated?
RS ICHT R A5TS TR XD WS 2
(i) Body '
e
(i)} God
EEs
(iii) Consciousness
Al
{(iv) Religion
of |
( Choose the correct answer )

(W Teaeh! AR Bferean )

(g) Who among the following is the author of
the book Being and Nothingness?
oo Grad 91 R [Seqe (IR Being
and Nothingness 5%3 2[(T91 ?
(i) Kierkegaard
frcpams
(ii) Neitzsche
ReeA
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(4)

(1ii) Hegel
Iapl

(iv) I. P. Sartre
. 1. =

( Choose the correct answer )

( wm Teach! A Tfea )

2. Answer the following in brief : : 2x4=8

TS fraas oY Sed i

(a) In what sense phenomenology regards
philosophy as a ‘rigorous science’?

28 B ude v 9T FoR Rew’ IF

SfeRe FHeR ?
(b) What does Neitzsche’s nihilism mean?
AR R 7 3w 2
(c) Name two atheistic existentialist
philosophers.
PRI e e e T o |
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(5)

(d) State any two obstacles that obstruct the
exercise of man’s freedom according to
Sartre,

T T FET FRTOR SIS 14 GO
R @ 1o e Ty 41 |

4

3. Answer/Write short notes on any three of the
following : 5x3=15

wote fran R e fofome Tea / wisfee GGr o

(a) Write a note on Phenomenological
reduction.

AR Rreferrar Rew ot Gt Bt 1

{(b) Neitzsche's concept of ‘will to power’

AR THoR 4o 22T 4=l

(c) Explain existentialists’ view that ‘truth is
subjective’.
‘7o) FfeD’ I AR T SRFET GRNCE
ERESIN

{d) Sartre’s concept of freedom

] FATOR 4R_q
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(6)

(e) Explain the statement that existentialism is
a ‘movement of protest’.

wRm g% ‘2fSm e —FAEE I

0 |
4. Answer any three of the following : 10x3=30
wore TR R coren fFoR Tew o -
(a) What is existentialism? Distinguish between
" Theistic and Atheistic existentialism. 2+8=10
wfyeam 7 oy = ﬁ%’rw@ RCRRILE
TS 2123 e 3901

(b) Discuss after Kierkegaard the three stages
of human existence.
Recdosy oo W S fORDr B oA
901

(c) Explain Nietzsche's concept of Superman.

SR SOAFEE LRERD! AT T |

(d) ‘“‘Existence precedes essence.” Explain
and examine the statement.

‘“ofgg AETER 7[HaSl P Sfecs o T
o 41 |
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(7))

{e) Explain phenomenology as a trend of the
contemporary Western Philosophy.

TAERE PO e oft Serew g Bl
AN F=ofc A T4 |

() Discuss  general characteristics of
existentialism. ’

SFgI AT CFBPTR SCEAs 3641 |

* %k &
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